E} FJDynamics

File No.FJ/ZX-PMD-001-2020
The Autosteering Kit for Agri-Vehicles

Packing List

Core Module Packaging Box

www.fidynamics.com/home



E} FJDynamics

Check that all the following items are in your package. If any items is missing, please contact FJD or local dealer.

9002E0000Q0030
Electric steering
wheel assembly
x1

900202004Q0030
IMU
x1

9002F0000Q0030

Control terminal assembly

5010384802500

Self-tapping screw

ST4.8x25
x4

S Sealing Bag
/-
,@

S010200601600
Hexagon socket head
cap screws M6x16

x2

S050130000600
Spring washer 6
x2

L Sealing Bag

90020428FQ0030

Certificate of conformity

x1

90020431FQ0030
Software Instructions
x1

S050170000600

Plain washer 6

X2
90020436FQ0030 900251141Q0030
Hareware Instruction Screen Protector
x1 X2

L Sealing Bag

=

90025078DQ0030
Nylon strap
x20

E‘) FJDynamics

S Sealing Bag

° °

o o

9002C000FQ0030
Plate
x1

S040030300800
Rivet 3x8
x4

S Sealing Bag

S010384802500
Self-tapping screw

ST4.8x25
x4

=
S020040500000

Hexagon nut M5
x4

S

S050170000600
Plain washer 6
X2

L O

S010110501600 S010110805000
Hexagon bolt M5x16 Hexagon bolt M8x50
x4 x4

€=

5020040800000 5050130000600
Hexagon nut M8 Spring washer 6
x4 X2

S

S050170000800
Plain washer 8
x8

S010200601600
Hexagon socket head
cap screws M6x16
x2

S=

S050130000800
Spring washer 8
x4



File No.FJ/ZX-PMD-001-2020
The Autosteering Kit for Agri-Vehicles

Packing List

Check that all the following items are in your package. If any items is missing, please contact FJD or local dealer.

E‘} FJDynamics

Support Module Packaging Box

X2

900204234Q0030

Steering motor connecting
cable

x1

900300120Q0030
#2 GNSS feeder
x1

900230052Q0030
Antenna connector
x1

900204244Q0030
Intelligent main wiring

harness (1)
x1

N

900300060Q0030
#1 GNSS feeder
x1

900204214Q0030
IMU wiring harness
x1

900212400Q0030

Angle sensor assembly

x1

<

900300044Q0030
4G antenna
x1

900204224Q0030
Steering motor main
power cable

x1

.

900300054Q0030
Radio antenna
x1

<

900251182Q0030
Suction cup base
X2

S Sealing Bag

\
S020040800000

Hexagon nut M8
x4

—

$010110501600
Hexagon bolt M5X 16
x4

$S050130000800
Spring washer 8
x4

\es
S020040500000

Hexagon nut M5
x4

S050170000800
Plain washer 8
x8

S010110805000
Hexagon bolt M8 X 50
x4



File No.FJ/ZX-PMD-001-2020
The Autosteering Kit for Agri-Vehicles

E‘} FJDynamics

Packing List

Check that all the following items are in your package. If any items is missing, please contact FJD or local dealer.

Accessory Sets

900250582Q0030
#1 Motor bracket
x1

900221069Q0030
2# Splined sleeve
x1

1G1400156B0070
7# Splined sleeve
x1

900234000Q0030
#2 Motor bracket
x1

900221079Q0030
3# Splined sleeve
x1

b 0\

(G
900201029B0010
8# Splined sleeve

x1

900222300Q0030
#3 Motor bracket
x1

900220189Q0030
44 Splined sleeve
x1

b 0\

G
900201416B0040
94 Splined sleeve

x1

900211402Q0030
#4 Motor bracket
x1

900220199Q0030
5# Splined sleeve
x1

900221059Q0030
1# Splined sleeve
x1

900221119Q0030
6# Splined sleeve
x1



